Pilot burners

oz TR

Electrodes/piezoelectric igniters/ignition push buttons/ignition switches/ignition units/ignition cables

N

Thermocouples




Table of contents

Pilot burners SIT

Pilot burners JUNKERS/ORKLI
>

page 8
Pilot burners ROBERTSHAW o n
page 10
page 12
page 14

Various pilot burners
page 15

Nak

www.electrolux.mk




Table of contents

Electrodes

- /@ .
\ \\ v % ’///\

page 19

Piezoelectric igniters ;/ '
\ M} ‘ \
=% N
® >
N ‘. \.
Ignition cables

WAL S

LR

Ignition push buttons

Ignition units

page 26

page 26

page 27

page 27

page 30

www.electrolux.mk



Pilot burners

pilot burners SIT universal and accessories

1 burner B
® 1
j flem ordur ro. b {om) I} ilom oo o, o Jt {im) jot
; 5 3 I 100124 0.25 type A 3100139 0,25 type A
2102806 0.25 type A
wm  ordu oo 5 i (om) o iew onder oo o jot (om) it
I 100040 0,20 typeA 3100113 035 wpeA
2100047 0,20 type A 4 100129 035 type C
3100048 0,20 type A pilot burners with mushroom cap

2

— item ordor o 8t {om) J itsm ondar no, Qty (ploca} &z
3 i 4 | 100071 0,20 type A ; 100833 | mush-

e

2
2100086 0,20 type A 102633 5 room cap
ilew  orter o o jet {mm) o ter  odor oo v il fnm) jit 4 100804 1 gasket
: 100041 0,20 ype A 3100069 0.20
100083 0,35 type A 4_ 100044 0,20 type A
2 100066 0,20 lprA pi'ot burners caps
2 burners
K.
1 2 K | 4 5 6 u
= fem  onder 0, Qy (o) dasctiplinn fem  order no. Qy (o) i
L 100841 1 100843 1
1 2 3 - I} ——— il bumer 4 ———— 3 bumers
102641 5 102643 5
B iy o r 3¢ o # LA v ¥ L 3 da'ves —l 1 burmer 5 IOOS}IJ little hat
1100042 0,20 type A 3100103 035 type A 102632 5 102631 5
2100045 020 type A 3 100842 1 e o % 100885 1 acration
102642 5 - 102685 5 collar

3 burners

3
lom  orar oa. u o {wm) * dam ondor m. o i v i
100043 0,20 type A 2 100106 035 typeA
100104 0,35 typeA 3 100122 0.24
2 100046 0,20 type A

www.electrolux.mk




Pilot burners

c pilot burners accessories I

—‘ . 2 E 3 §
| I
H llam ordar 9. Ry (piaca) dogzriftion

10090¢ 1
v I locking screw for gas line, @ 4mm
102504 5
po ol e dision desiton gt ofor o divonions decripton 100905 1 ) . y
{mm) (om) 2 locking screw for gas line, @ 6mm
L H L [ 102505 5
I 102664 40 29 3 bumers 5 102816 64 25 3bumers . 100885 1 ) i
3 —— aeration collar for pilot burners
2 100837 48 24 2bumers 6 102663 64 29 3bumers 102685 5
3 100836 48 30 2bumers 7 102665 87 28 3bumers
4 100835 48 35 2bumers
pilot burners brackets/electrodes
\\.
=
.,
1 "
Rem  ondor oo, description 3 4 \

1 100099 pilot burner upper part

2 101480 pilot burmer upper part L AL dstrgton fon ok e, dstripion
3 100838 pilot burner upper part 2 100855  bracket 3-fold 4 100707 ignitero 2.4
4 100890 pilot burner bracket

pilot burners bottom parts pilot burner jets (types A-C)
# ﬁ J i g
1 2 - W ehew CRm Hyp e o o i it B
(fes) [ ] yp
ftem  order pu dascription R o 100245 1 100247 1
——. ) s 3. T}
100881 pilot burner body 0.20 102545 5 S 5 102547 5 =y ¥
- )
1 100882  pilot burner body 0.25 type A I 102742 | 0,25 A T 100248 | ide B
100883 pilot burner body 0.35 100246 | 102548 5 it
pilot burner body 102546 5 L 100789 0.21
¢ ooom (adjustable from upper) i B | ;
) PP 100790 035

1 ZO 3@

e oner o, daseription
1 100916  spring

(I8

100917  aluminium joini
3 100918 locking screw

www.electrolux.mk



Pilot burners

pilot burners SIT TARGET and accessories

pilot burners SIT TARGET

1
¢ ‘ 3 ‘
.' Ilam ordor ng. deeaription 00, Sit
1 /4 3 41 1 100094 0140102

1 burner

2 100182  cover

ftem  onder no. Soscription o St
; 100095 1 burner 0140026
- 100097 2 burners 0140020 accessories for pilot burners SIT TARGET
2 100859 | burner 0140028
3 100181 1 bumer 0150086 \
4 100074* 2 bumers = , fh‘%
*suitable for OLIS - 2
\.’ Sy

- s 3"'-\-3:

iem  order v, Qty {plocn} description

1 160701 1 igniter M4
100906 | e
2 screw connection for igniter M10x1
102506 5
3 100801 1
2 3 . gasket for pilot burmers
4 100803 1
tsm  ondor e, Meaaription ne. Sit
| 100070 1 burner 0150073 V =, 6 ﬁ s
2 ! ] | -
2 101931 ! burner 0140018 1 ' 4 2 6 3 4 B
3 101930* 1 burner 0140_
*suitahle for BAR®N g ot o, @1 (ocs) dosaription
100907 1
1 = = thertnocouple nut
f 102507 5
100908 1
2 gas feed nut 0 4nun
102508 5
’ 5 3 4 1 4 100909 1 Pt &
as feed nut @ 6mm
: 102509 5 ¢
K el dxzipion o 8 4 100897 1 olive @ 4mm
I 100170 1 burner 0150064 5 100898 1 olive 0 6mm
2 100050 2 burners 0140015 . .
3 100144 1 burner 014008 pilot bumer jets
4 102831 2 burners 0140024

»

- “d
pos. hler 1o, Qty {pleco} dascription o ¢t (mm) m. {or suvies
] » 1 100204 1 .
- LPG jet 0,18/0.20 14 0140
1 2 3 ¥ 102604 5 .

2
3 100207 1 ]
; natural gas jet 0.40/0.38 27 0140
wem  undor no, Besorigtion o Sit = § 102607 5
1 100198 1 burner 0140104 5 100205 1
. LR o
> 100126* Tt o GOSBOE 5 I.PG jet 0.23/0.26 19 0150
3 100159%* 2 burners 0150 7100765 |
LPG jet 0.35 20 0150
*suituble for ZANUSSI (ref. no, 002055) 8 102799 5 o
*+suitable for GIC® (ref) no. 790200900) 9 100206 | .
natural gas jet 0,60/0.55 36 0150
10 102606 5
11100216 1
= natural gas jet 0.45 38 0150_
12102516 5

www.electrolux.mk



pilot burners SIT series 160
and accessories

pilot burners SIT series 160

itom ander oo, dpscription 8 '» pas [ma fum) oo, S
1 100872 3 burners no. 51 6 0160005
2 100055 2 burners - - 0160101

dtem  onder no. deseription 0, Bk

| 100105 3 burners 0160042
2 100052 2 burners 0160103
item  ondor na. deseription it u gas loa lom) w. it
1 102840 2 burners no. 4l 6 0160105
2 102946 3 burners - - 0160075
s -
3 2,
1 2
itom atder ne: dustription no. St
| 100109 1 burner 0160002
2 100056 3 burners 0160032
= a i E -
1 2

fom onder o destription w3

Pilot burners

fton  oder m daseription to. &t
1 100110 3 burners 0190603
2 102116  thermoelectric generator 750mV, 600mm -

3 580035 thermoelectric generator 750mV, 820mm -

accessories for pilot burners SIT series 160

\ .. N\
- -

N , w o
1 & g 4

fom  ordor g0, Qty {posa} dasaription

1100701 1 igniter
100906 1

2 electrode nut
102506 5

3 100801 1 gasket

1‘ 26 Se 4‘ 5“

tom ordor no. Qy ipiece) dexeription

100907 1 screw {or thermocouple
' os0r s
2 F st R, union screw for gas line @ 4mm
102508 5
100909 1 union screw for gas line @ 6mm
: 102509 5
4 100870 1 locking ring for gas line @ 4mm
5 101857 1 locking ring for gas line @ 6mm

pilot burner jets

&

1 100054 2 burners left 0160022
2 100053 2 burnersright 0160012
& » | 3
1 - 2 -
tem ordir 0o, Qescrigtion w0, Sit
1 100049 2 burnersright 0160046
2 101898 3 burners 0160501

Pos. erdor no. Qy fplese} dasaription o Job (mm} o
I 100200 1 LPG jet 0.20 20
2 100203 1 LPG jet

0,25 25
3 102503 5
4 100201 1 LPG jet

0,30 30
5 102501 5
6 102698 1 LPG jet 0.35 35
7 100202 1 natural gas jet

0.41 41
8 102502 S
9 100869 1 natural gas jet 0.51 51

www.electrolux.mk



Pilot burners

pilot burners JUNKERS/ORKLI

and accessories
pilot burners JUNKERS/ORKLI
4 4
1 2
without prime air without prime air
fam ocder e Mesctiption il o tm fina {ouy)
100133 natural gas no. 44 4
" ) ; ; 100138 natural gas no.64 4
' ! o 102954  LPG no.52 4
1 : Qj ' 2 102955  LPG no. 49 4
with prime air withoul prime air =
2 100119 natural gas no. 45 4
em onder o, leseription Jot 1 s lino (mm) e dunkers 3 102842 gasket -
100101 LPG no. 2 4 CB 503003
1 100058  natural gas no. 26 4 CB 503006
100118  natural gas no. 3 4 CB 503002 I
: 100107 LPG no.10 4 CB 503009
" 100080 natural gas no. 6 4 CB 503010
_3 lO_O?_6_6 C(_)iering hood - - — 1 V 3

with prime air

LD

0, Jurhors

CB 505139
CB 5051 37
CB 505121
CB 505120
CB 5051 41

)

with prime air

\\ \ flem onlar no desaription ik o g ling (vm) 00, Jynkors
lr 100059  natural gas no. 4 4 CB 505004
. : 100060  natural gas no. 3 4 CB 505070
2 100805  gasket - -
3 100073 natural gas ne. 9 6 CB 505018

1 .
with prime air with prime air with prime air accessories for pllOt burners JUNKERS/ORKLI
Ium adir . deseriptian ol # g8 ling farm) 00, Jenkarg
1 100085  natural gas no.6 6 CB 502031 /\ ay S
3 100132 city gas no. 4 4 CB 502032 R
" 100061  nawral gas no.6 6 - "“ “ &
3100062 natwral gas no.6 6 CB 502021 1 2 3 4 5
ot ocdor o, QU (ploce) doscription pllol harmor Lypas
I 100m4 1 igniter CB 502
l I 2 100702 1 igniter CB 505
3 100703 1 igniter CB 505
o — 101292 |
4 igniter screw CB 502/505
’ 2 3 = 4 102592 10
) . . : v ) ; 5 100900 aeration collar CB 5020
without prime air without prime air
a  oodor dassriplion 3 o g lino (wml . Joakers P
- - -_ —- - / \
| 100057  natural gas no. 44 4 CB 505102 b .
100134  qatwral gas no. 45 4 CB 505101 : _ .
2 100802  gasket \ % \ %
5 - 1 2 3 4 &
100135 natural gas no. 45 4 CB 3505105
3 100081  nawral gas no.44 4 CB 505111 i i (i) Jsstiption e Latser Sypes
100116 LPG no. 42 4 CB 505122 1 100719 1 igniter CB 50202
4 100805  gasket z n 101291 1 CB 50202
) = = igniter screw i
102501 = 5
101295 | CB 502/505
3 thermocouple sleeve
102595 10
100907 1 CB 502/505
4 thermocouple screw
102507 5

www.electrolux.mk



Pilot burners

ignition lines accessories

|
o » o s . ‘ ATy St 23mm 2bmm
1% 2%3%4“5%‘60 s’ x& &X

1 - 2
Aem  order o Q. (pioca) deseription ot barner Lypes
flom order 10, Quy (plowot gt Ly tode prossura fmlur) pilot barir types
| 101283 1 unien screw for B Ty i8%ige G
102583 10 gesIneadmn ek [k} 6 30 CB 5051
2
5 100909 1 union screw for " oo 1
102509 5 gas!)intoGmm - natralgas o) 25 CB 5051
102511 10
101281 I ki HYeR 100212 1
3 logiRagang fev CB 502/503 LPG 42 50 CB 5051
gas line @ 4mm | 102512 10
102581 10 100213 | | » . o
. 101287 1 locking ring for CB 502/503 102513 10 PN - ANGEL
102587 10 gas line 0 6mm E 100237 | | . o e
5 101282 1 locking ring for CB 505 102537 10 ARTILGaR 8 2 PILL
5 gas line 0 4mm ~
102582 10 ET 100229 | LPG 52 30 CB 5051
101288 1 locking ring for 10026
= = 505 -)O | 3
A 102588 10 gas line @ 6mm Cpng-e %, 2 LPG 10 50
= 102560 10
100218 | CB503_
X} el (D natural gas 6 15 without
25 5 A
. 4 prime air
pilot burner jets 00261 1
4 ————— natralgas 23 25
a 102661 10
[ order no Qy (placad ey coi frossaro pllot barnor types
i |
I 100220 1| i ) -
D) 102520 10 LPG = R0 €B 503 5 [ andet now Qy {piae} ) EW! code . Présedrs (Wr) ilet darser typss
3 100221 1 100230 | ) s
5 | LPG cd 50 CB 5050
4 102521 10 ey = A e 102530 10 =
5 100222 1 5 100231 1 ‘ g o
5 5 2 natural gas 4 25 CB 5050
T L LPG 5 50 CB 50203 7~ TR If
7100223 | 100232 1 : y
s ‘R s 3 natural gas 9 235 CB 5050
8 102523 10 nAfIELE: G Gl o 102532 10 £ -
9 100224 | 100233 | . o
s g 4 LPG 8 50 CB 5050_
o i natural gas 26 25 CB 503 102533 10
) 110028, i _ 100234 | .
s 5 natural gas 14 20 CB 3050
12 102525 10 i D TRp 102534 10 € S
3 100217 1
n R natural gas 6 25 CB 50203 6 LPG 3 30 CB 5050_
14 102527 10 - = - 102519 10
15 100228 | A
city gas 4 8 CB 50203 _

16 102528 10

www.electrolux.mk



Pilot burners

pilot burners ROBERTSHAW and accessories

types (flame exit)

N
Ii i 0
k 7E
1 2 3 ‘ 'g _
Wom  onder e dacrigion = e 6 ot lom) no Rodartsbsy Ihe g0
=L L B Wi Bl S dn | 106082 2bumers natural gas 0,16 3CH-1 c
9 D -
SR B R T L S 2 210608 3bumers nawralgas 0,8 4CH-I D
2 2b lgas 0, X
ST ity reiordlias it SEL Y B 106137 3bumers LPG 0.16 6CH24-1 E (L=63)
106083 2 ; 3CHL6
A & Tounc ' g R e & 106117 3bumers nawralgas 026  6CH241  E(L=63)

b

g\.

1 2 3
'
Hem  onder . distiption By o gt (o 0. Rodartshaw 9 type 3 /
1 580050 3bumers LPG 0.11 4CH-6 D
2 580049 3 bumers natural gas 0,22 6CHI14-6 E ([.=38) Jm ondar o, docripion i s o it (il m. Redtslw Tans type
3 106089 3 bumners - without  6CH14-6 E([.=38) I 106091 3bumers natualgas 0,26 6CHI10-1 E (L=26)
(old holder type) 2 106092 3bumers nawralgas (.26 6CH14-1 E (L=38)
3 106090 3bumers naturafgas 0.26 6CH30-¢ E (1.=76)
a b
1 2 3 4
ey onder o docripion o e o i ) 0. Raberthw oo typo 1 2
I 106078 | bumer  naturalgas O,I8 2C-2 F
2 100117 | burner naturalgas 0,18 2CH-1 F Mam  onder ee deseription 2 typ o ) . Rodatabaw T Ly
3 106014 2burners natwral gas 0,16 SCHR-1 G 1 106080 | bumer - without 2CHR-7 |
4 106116 2b L tural 0,16 SCHL-1 H :
el k2 2 106081 | bumor - without — 2CH-7 F

www.electrolux.mk
10



accessories for pilot burners ROBERTSHAW

T e ve.o

tom  orler ta, duscription
106109  lockingscrew for gas line I/4*

106111  locking screw tor gas line @ 6mm

[IS)

106113  union nu

iem  onder on, dogetiption 208 (9 i . Tobarisheiv fama 1ype
| 106096 3bumers naturalgas 026  6Sl4-1 E(L=38) 3 101482 unionnutforgas line 1/4™
2 106095 3burners naturalgas 026  6S24-| E (L=63) 4 101483 union nut for gas lne 1/4*
3 106097 3bumers naturalgas 026  6SH24-6 E(L=63) 5 101481 olive I/4* CCT

1%2

o ocder o, doscription
_ ’ | 106109  lockingscrew for thermocouple | /4

2 106112 locking screw fer thermocouple T45

*~ B

1 3 L
pilot burner jets
ftam  oder mo. deseription e type o fot {om) ®. Rebertilow: famo Lyje
1 106093 | bumer natural gas 0,18 2S-2ER F
2 106094 3bumers  natural gas 0,26 6S14-2ER E (1.=38)
3 106086 3 bumers  natral gas 0.26 4SHR-44 1 =, 1% 2‘
106087 3bumers  LPG 0,16 4SHR-44 1

It ardsr o @5 lype coda
106104  nawral gas 16
100276  natural gas 18

7 4 - 106108 natural gas 22
H l 100277  natural gas 26
l 100275 LPG 10
i — i 106107 LPG 1
;[ 106106  LPG 14
106105 LPG 16

1 2 3 4 2 106115 city gas

o ondar oo duseription toiglt () 0o, Robertsbms
I 106098 3bumers 44 9BH IR
2 106101 2 burners 38 9BV3 il
3 106099 3buners 28 9BV gl
4 106100 2bumers 28 9BV3 o

jom  onder o deseription 2ty . Rodertstpw
I 106102 1| bumer LPG IEA
2 106103 |burner naturaigas 11EA

www.electrolux.mk
11



12

pilot burners GEV-EGA and accessories

pilot burners GEV-EGA, type A

i om0, toscription autable for
100856  pilot burner L.PG
: 100857  pilot burner natural gas Blectolus,
2 100853 pilot burner upper part Juno,
3 100806 gasket A0S
4 100847  pilot burner centre part

¥,

nep  order na description wiable Tor

l nla* pilot bumer body natural gas
nla* pilot burner body LPG

. 101599  pilot burner body natural gas Electrwlux,
101598  pilot burner body LPG Juno,

3 100848 pilot buner upper part Zarss

4 100964 cover_

5 100962 ignition piece

*no longer avalable

accessories for type A

% O W

lam andor o, Uy (piocs] Jescription silably for
1 100904 | locking screw for
as line @ 4mm
Hioed. & = Electrolux,
2 100916 | spring Juno,
3100917 1 aluminium joint Bonusd
4 100918 | locking screw
pilot burner jets for type A
s onder o Qty {ploce) Jeseription o (nm) suitable fop
I 100245 |
5 ryem LPG 0.20
2 MRS 3 Electrolux,
3102742 | LPG 0.25 Juno,
4 100246 | Gapug!
natural gas 0,35
5) 102546 5

pilot burners GEV-EGA, type B

C
1=)i 2" 9:\40 5% 6@

lem  ordor mo. duseription sulable for
1 100088  pilot burner
2 100960 cover
3 100961 ignition piece
MKN
4 101228  knurled nut
5 101259  union nut for gas line v 4mm
6 101284 olive for gas line 8 4mm
pilot burner jets for type B
=Y
am  ordo 0, deacription » (nm} Slitablo for
1 100270 LPG 0.20
2 101896 LPG 0.22
MKN
3 100271  natural gas 0.30
4 100272 natural gas 0.35

pilot burners GEV-EGA, type C

liom ordar m, dascripiion sitatla for
1 104257  counter plate
2 104258  gasket
= Kiippersbusch
3 104259  centre pait
4 104253  cover

<* N» L.of

Tom  orlar ne, duserigtion italle for
| 104254  guide plate
2 104255 ignition piece
3 104252 guide tube

: Kiippersbusch
4 104256  screw connectien
5 104251  spring washer
6 104250  thermoeouple nut
pilot burners GEV-EGA, type D

1

hem  ordat jo. deseription siltably for
1 102956  pilot burner C, complete Ascobloc,
2 102957  pilot burner B, complete E:EE:;::SCIL
3 102958 pilot burner E, complete Palux

www.electrolux.mk



|
1
B bRkETR dseripin fght aditabla o lom  ordor no. description stitabla for
1 101843  base plate forelectrode (C) o 18mm  Ascobloc, 1 101856  pilot burner complete ARC,
Electrolux, Electrolux,
o < 2 101474  mixing pipe for pilot burner s
2 101844  base plate for electrode (D) o 15mm Klppersbusch, s
Lohberger,
Palux,
3 101845  base plate for electrode (E) ollmm  Therma - \,‘_-
\ - N @
' h 3 4 5
' Hom  eedor no. dusaription saltabla for
4. 5 6 .
! 102640  pilot burner complete
o order . daseription eight sillablo for 2 102833  pilot burner upper part ARC
1 102962  Dbase plate for electrode (C) o 18mm 3 101854  pilot burner bottom part Electrolux,
2 102963  baseplate for electrode (D) o |Smm 4 101779  igniter et
3 102964  base plate for electrode (E) ollmm  Electrolux, 5 100906  igniter screw
—y Lohberger,
4 101841 igniter screw - Therma
5 102965 igniter - 4 - l;p
6 102966  aeration collar - . . ) ‘
1 2 3 4 5
o order w0, docrition wiable for
Q 1 101583  ignition piece Ascobloc,
1 l 2 3 4 2 101584  pilot burner cap Electrolux,
= = Kiippersbusch,
3 101587 gasket Lohberger,
o ot 0. dearipion sailably for 4 101848  cover Palux,
1 101835 pilot burner bottom part (C) Ascobloc, 5 101585  thermocouple screw Therma
. Electrolux, > &
2 101834 pilot burner bottom part (D) Kappersbusch accessories for pilot burners GEV-EGA,
3 101586  pilot burner bottom part (E) ;.;rl];t:erger. types C,D,E
4 101839  thermocouple screw Therma 6 @
1 2
o ondar o 0y pince} dasctiption sitablo for
[ 4 : 101285 | RS R élsc?b!?c.
- = “lectrolux,
\ 102585 10 M i Kiippersbusch,
1 2 N 3 4 101284 | Lohberger,
2 olive o 4mm Palux,
102584 10 Therma
tam arder no. dasaription saitabla for
1 101831 ignition piece intake Satalils PilOt burner .Iets for GEV-EGA, types C, BD.E
scobloc,
2 101830  ignition piece Kiippersbusch,
3 101587  gasket Lohberger,
Palux
4 101842 cover
s order no. £ type pressary ditable for
pilot burners GEV-EGA, type E 1 100235 LPG 20 50mbar  Lohberger,
As :
2 100236 natural gas 35 20mbar K?Jcp%?:'rosgusch
3 101589  LPG 18 50mbar
Palux
4 101388  natural gas 32 20mbar
5 101534 LPG 19 S0mbar
3 6 101543 natural gas 30 20mbar  Therma.
7100979 LPG 25 30mbar  Electrolux
itenonder . duseriptin sailable for 8 101535  city gas 60
1 101529  pilot burner complete Ascobloc, 9 101849 LPG 16 S0mbar  GGX
2 101582 pilot burner upper part Rigpenibuach, 10 101864 LPG 24 30mbar
Lohberger, ARC
3 101586  pilot burner bottom part Palux Il 101865  npatural gas 41 20mbar

www.electrolux.mk



Pilot burners

pilot burners POLIDORO and accessories

A, da

pilot burner jets

>

pos order e, QU (pinca) 5 10 wle
100208 1
3 1 LPG ¢ 0.20 20.1
102608 5
2
am  ordur o, dasaription o orr oo dusoription 2 198209- 1 natural gas & 0,40 40.1
1 100162 3 bummers 3100076 3 burners L
2 [00148 3 bumers 3 102699 | natural gas 252
©02x0,25
pilot burners HONEYWELL
and accessories
pilot burner HONEYWELL
1 2 3 = ﬂ
iem  oidet no. dazongtion fem  ondor ne. dascription
1 100079 3 burners 3 102982 3 burners
2 100051 3 burners
1 2 - 3
iemw  ordar dbscription modsl
1 102885  pilotburner | burner Q349A10268
2 102886 pilot burner | burner Q349A1091B
3 102887 pilot burner 3 burners Q327A1683B
itoam  ordet we. desaription itm ocdor e desaription \‘
1 100863 2 burners 2 100867 3 burners \
accessories for pilot burners POLIDORO ii :\.\ %
1 v 2
\ ltwn  order duscription model
™, 1 102892 igniter Q349/Q327
| ¥
» - 2 102905  union screw for cable Q349
k \ % 0 6mm
1 . @ 3
pilot burner jets
om  onder po. Aty (oo} daseription
1 100701 | igniter
100906 | '
P T igniter screw \\Q’\s
102506 5 1 & 2 3
100907 |
S —102507 thermocouple screw e e i el
i 102888  pilot burner jet natural gas Q349
" 102889  pilot burner jet L.PG Q349
1 % 2 s 3 Q 2 102890 pilot burner jet natural gas Q327
3 102891  pilot burner jet LPG Q327
hem  ondor oo Uy (plecel desciption
100908 1
1 union screw for gas line @ 4mm
102508 5
100909 1
2 union screw for gas line @ 6mm
102509 5
3 102795 | locking ring 0 4mm
102797 1 locking ring 0 6mm

www.electrolux.mk

14




Pilot burners

various pilot burners, group A

# 0o .8 .0
lom  order g description ujtable for

I 100078 pilot burner
1 , 2 3 Q = EKU

2 102067 nut M8xI
ltom  ordor ot duseription witadle for 3 100092  pilot burner
Modular
I 100082  pilot bumner 4 101860 nutMI0x]
2 100834  mushrooem cap EKU

3 101860  nut M10xI

Q pos order e duscription sultatly for
2 3 1 100068

pilot burner Gico/Nayati
L oedor na. daserption Siitable: Tor
| 102979 pilot burner accessories for group A
2 102980 mushroom cap Mareno
3 101860 nut MILOxI A 2
16 2 3 Q 4 i 5 t 6
lem aedor 0. Q¥ (plost) dasorplion altilsblo for
o 1 100870 1 olive for gas line 0 4mm
2 3 , ol 288 1 union screw Ambach,
= 3 for gas line @ 4mm Baron
2 £ )
item  ondor ao. duseripuion Sullable for 102583 L EKU,
I 100091 pilot burner 3101857 1 locking ring Modular,
for gas line 0 6mm hiel
2100919  spring Ambach £ Wi
3520120 clip 3 100909 1 union screw
102509 5 for gas line 0 6mm
. . 0128060 1 locking ring
S e for gas line ¢ 4mm .
10258l 10 S Gico,
101283 1 union screw Nayali
6 102583 10 for gas line @ 4mm
1 2 3@ pilot burner jets for group A
iem  ordor oo, doseription stitablo for
1 101899  pilot burner @
2 101929  mushroom cap Baron -
3 101860  nut M10xI 5. order o, QY (pocn). dmcription » (m) wole suitable for
1 100200 1 LPG jet 0.20 no. 20
2 100203 |
LPG jet 0.25 no. 25
3 102503 5 z Ambach,
Baron,
4 100201 1
- - LPG jet 030 no.30 EKU.
3~ 192501 .5 Gico,
6 102698 | LPG jet 035 no.35 Modular
1 2 Nayati,
7 100202 | iel
= = natural gas jet 0.4l no. 4| L
ltom  order o, dewntiption sty for 8 102502 5
: 102829  pilot burner (L=34mm) 9 100869 |1 natural gas jet 0,51 no.51
102830  pilot burner (L=28mm}) Thielmann
2 101860 nut M10xI

www.electrolux.mk 15



16

various pilot burners, group B

VvV N\

Pilot burners

accessories and pilot burner jets for group C

@

@ W

Wom orfr no. Qu (ptece) description siltable for
I 101294 | union nut M 10x1
lam  ovdar oo deacription ailably. lor ; 101284 | olive ring for
I 100601 pilot burner bracket T 102584 10 gas line 0 4mm
2 100075  pilot burner without ignilion peak Malag 100255 1 ]
= == Ty — LPG jete 0.20
3 100600 ignition peak 102555 5
= Ambach
102770 1 LPG jet © 0,25
3 100252 1
LPGjet00.35
102552 5
P - 100256 1 T
) = - natural gas jet v 0,
2 N 3w 4 102556 5
ftem  onder wa, deseription saable for
1 102918  pilot burner cover
2 102919 pilot burner upper part
Wamsler
3 102920 pilot burner plate
4 102921  pilot burner bottom part
accessories and pilot burners jets for group B i ]
tam orfor o, dsscription salable for
I 102859  pilot burner LPG
1 2 @ 102860  pilot burner natural gas
- Heidebrenner
2 102854  pilot burner brackel
Mom  order o Qy (pioce)  dasoripion aifabl for 3 102862 pilot burner bracket
I 101285 1 union screw M8x|
102585 10 for gas line o 4mm
, accessories and pilot burner jets for group D
5 101284 | olive for
- 25 as line @ 4mm
98, 19 L - Lohberger, /\
100214 | e s Malag,
et PG jet 0 0,16mm Wamsler
30102793 | LPG jet 0 0.23mm \ \ Cj
100215 | e
natural gas jet @ 0,16mm v
102515 5 “ )
3 4
various pilot burners, group C oo by el - S e
| 101281 1 locking ring
102581 10 for gas line 0 4mm
101283 1 i
) 25 in
1 2 3 &
3 102863 1 igniter
om  order ng, Hescription sultoble for 4 102878 1 igniter holder
1 100087  pilot burner M8x 1
2 100096  pilot burner M10x1 Ambach m
3 101293  gasket (aluminium)
s ordur o, sty Ay (pleco) code prassare
1 100222 |
LPG P S0mbar
2 102522 10
3 100227 1
s 6 25mbar
& (105IF . £ES 10

www.electrolux.mk



various pilot burners, group E accessories and pilot burner jets for group F

_\'
Do 1 84 26 1@ s 5 \\?&66

lom ondur nox Qy (pocs) deseription

Pt oo 1o, Hasoriphion ltablo for 101282 1
= = locking ring for gas line 0 4mm
1 100065  pilot burner Angelo Po 102582 10
. P 1 101283 1 ) y .
accessories and pilot burner jets for group E il e wnion screw for gas line 0 4mm
101288 1 o )
» 3 ———— locking ring toor gas line 0 6mm
6 102588 10
i 100909 |
1 % 2 3 4 ——————— union screw for gas line 0 6mm
102509 5
Kew ol . Qy Iyince) duscription sitablo for 5 100701 1 igniter
101282 1 locking ring 100906 | o
102582 10 for gas line 0 6mm 6 W electrode nut igniter
100909 1 i
) union screw Ange® o
102509 5 for gas line 0 6mm
100831 1
3 pilot burner cap
102631 5
) ordar o, dnscription Qy (ploce) oode frosvdra  (mbar)
100230 1
1 W LPG IO— g 50
1 & 2 . -
100231 1
V' = ARl ——— 4 25
Hom oot . w up Qy ipoca! ool pressire (@bar) 102531 10
100220 | 100232 I
= 5P = D 50 3 ————— natural gas 25
102520 10 102532 10
100225 1 100233 1
R LL¢ — 3 30 4 ——— LRG = ==K 50
102525 10 102533 10
100224 1 100234 I
—————==nalural_ gasi =—=—==3I3 25 5 ———— natural gas — |4 20
102524 10 102534 10
100253  LPG 1 2] 50 100217 |
6 ——— LPG ——————3 30
2 100240 LPG 1 39 30 102519 10
100241 natural gas | 13 25 : :
& various pilot burners, group G
various pilot burners, group F
P tder o, dnactiption wihitly for
1 100089 pilot burner Mareno Lo I Rl gl MU
1 100127  pilot burner 2 burners, lef}
: = Silko
2 100128 pilot burner 2 bumers. right
I I ,
=
- -
1 2
! tam oder o daseription odo o gts lne ) i
1 102967 2 burners right 14 6 -
2 102971 2 bumers left 14 6 pos onder pos Sascriphion sifuabls for
3 102975  2burnersright, with prime air 14 6 | 102906  pilot burner 1 bumer Salvis

www.electrolux.mk
17



Pilot burners

various pilot burners, group |

18

s
|

onlor po.
100879

dscipin

pilot burner | burner

siltablo for

Zanussi,
Therma,
Electrolux

accessories and pilot burner jets for group G

& © N

lom  ordor mo. @ (pwoa) Jascription sl fr
I 100870 1 locking ring
for gas line 0 4mm
, 10183 1 union screw .
2 . Zanussi
102583 10 for gas line @ 4mm
100907 1
3 thermocouple screw
102507 5
o
oS ordsr e Qy (pioca) Bosaription o (on) ot suitablo Tor
1100200 1 LPG jet 0,20 no.20
2 100203
LPG jet 0.25 no.25
3102503
4100201 .
LPG jet 030 no.30
5 102501 Zanussi
6 102698 1 LPG jet 0.35 no.35
7 100202 1
natural gas jel 0.4l no.4l
8 102502 5
9 100869 1 natural gas jel 0.5 no.51
various pilot burners, group H
3
2 3 n
itom ordar na. Juscription auitablo. for
1 100130 pilot burner 1 burner
2 100981 pilot burner mixing head Nagema
3 100970 Dpilot burner jet (city gas}

s, order fio. dsserlption gutsblo for
1 102894  pilot burner LPG
r Theobald
2 102895 pilot burner natural gas
-
»,
2 5
Wom oot m, duseription shitsble for
102897  pilot burner LPG
102896  pilot burner natural gas
102899 pitot burner LPG
SFA
102898  pilot burner natural gas
102901 pilol burner LPG
102900  pilot burner natural gas

www.electrolux.mk



e — st

pilot tubings

1 ) |
) T e

flam'  order no. Qy (o) desttiption o pipe (vm) malatial
i 102110 4x1
e — ~———— copper
102111 y 6xl e
—e— ] pilot tubing

102108 4xl1

N = CNS
102109 6xl

® O .06 .6

lam  erdar oe. Qy {pisca) doscription o (mi)
100904 1
locking screw M10x1 4
102504 5
100905 1
1 locking screw M10x1 6
102505 5
101602 1 locking screw M 10x1 1/4+
101494 | locking screw M1 Ix1 6
100908 1 unton screw M 10x1,
; 4
102508 5 deep subsidence
: 101283 1 union screw M 10xI. 4
T 102583 10 deep spol facing
100909 1
union screw M 10x1 6
102509 5
101284 |
3 olive 4
102584 10
101286 1
4 olive 6
102586 10
5 101246 |1 olive PEL 4
3 % Vv 2 "
1 2 3 4 78 5 6
itom ordar no. Qy (pics) daseription » pis (mm) salablo Tor jot
101281 |
1 locking ring 4
102581 10 a
101287 1 o
2 locking ring 6
102587 10
. 101282 1 T ;
3 ocking rin
102582 10 bl
101288 |
4 locking ring 6
102588 10
5 100897 1| locking ring 4
6 100898 | locking ring 6 S

www.electrolux.mk 19



Elecfrodes

electrodes

key for electrodes at pages 20-21:

type A (heads)
L2 J_‘_ L2 _.t
A
,_! LI L1
LI "'\
Al A2 A3 A3 AS Aé A7 Al
type B (body)

T B w3
‘ BLI1 n BLI i ‘JBU

D2 o 'L':ZI*LZ L >f~ :;BL: b2 ‘BLZ 4{” 3 -’ : ‘bi
DI s
BIL3 Bl.} f -
Dl BL3 ( .
3 {.J Ly e B

BLI

Bl B2 B3 B4 RS BO
p2e | 1[a|_|
v
D1 T D » BL2 D2 BLI
BL2 Dl —x
-y i
| 4 ¥
B4 |'1|_5' Bl16

L= length  BL = bodylength D = diameter

B T T
\,\‘ A \
W\ \ \ \ ‘
1 ‘ 2 Q BX 4 " 5 6 7

o

V"/ )
/

&F7

)

-
.

10
oo onder m, dinpansions (ino) connegtion 1ypes thoyd
1] L2 13 BLI 82 Bl Ll 02

102314 2 - - 28 3 23 7 9 M4 Al/BI

1 100701 32 - - 18 3 23 7 9 M4 Al/BI

102399 122 - - 18 3 23 7 9 M4 Al/BI

2 100719 12 17 - 18 3 23 7 9 M4 A2/BI

3101779 10 3 - 18 3 23 * 9 M4 A2/BI

4 102330 1 - - 18 3 23 7 9 o 24mm Al/BI

5 100706 14 6 - 18 3 33 7 9 M4 A2/Bl1

102333 23 19 - 18 3 23 7 9 M4 A3/BI

3 102332 40 46 - 18 3 23 7 9 M4 A3/BI

7 102331 34 40 14 18 3 23 7 9 M4 A5/BI

8 102334 9 12 62 18 3 23 7 9 M4 A4/B2

9 100709 13 23 23 18 3 23 7 9 M4 A6/B2

10 100822 16 25 8 18 3 23 7 9 M4 A7/B2
11100707 14 6 - 18 3 23 7 9 M4 A2/B2

20 www.electrolux.mk



\

Thom urder e

10

\

\ :\‘\\
LW

Electrodes

o a5 - .
\\ i \\
| k
g 4 5 6

™ \ . 4 A
) '\ A
| : & | \ A \
4 -
1 2 3 4 5 % 6 ) 7 N 8V 9 L 10 "=
Jimanlons (npy) soanetion types (kaf)
tl 12 13 8Ll B2 Ul 02
- 13 4 9 1 M4 Al/BI
17 17 - 13 4 9 11 M4 A2/BI
13 4 " 13 4 9 T o 4mm A2/BI
50 - - 250/ 3 9 1 M4 Al/BI
14 7 - 27 3 9 1 M4 A3/BI
5 - 15 16 6x7 F 2,8x0.8mm A2/B3
It 5 - 15 16 6x7 M4 A2/B3
- - 28 16 6x7 - F 2,8x0,8mm -/B3
- - 14 16 6x7 - F 2,8x0.8mm -/B3
15 9 - 14 16 6x7 - F 2.8x0,8mm A2/B3

__1'\
\

i

8\ 9‘10‘1‘1‘k 12

www.electrolux.mk

itam dimspsions (mm) cufiation tyms (koy) itabla for
1] L2 BLI BL2 BLE o b2z
i 6 - 38 14 - 8 10 F 2.8x0.8mm A/B4 Gico
1 - 41 14 - 8 10 F 2.8x0.8mm Al/B4 Lotus
2 8 2 28 16 - 6 8 F 2,8x0.8mm A2/B4 Fimar
3 - - 56 = = 8 - F2,8x0.8mm A10/B6 Lotus
4 - - 43 - - 8 - F 2,8x0.8mm A10/B5 Therma
5 - - 42 - - 8 - F 2,8x0.8mm AI10/B5 Kiippersbusch
6 - - 15 35 - 8 7 F 2.8x0.8mm  A10/BI Ambach
7 - - 18 14 21 6 8.5 F 2.8x0.8mm  A10/BI Zanussi
8 21 - 12 18 - 10 7 F 2.8x0.8mm Al/BI16 Lotus
9 | - 17 3 8 5 7k F 2.8x0.8mm Al/BI Olis
10 5 12 63 - - 7 - o 4mm A3/BI15 Rational
11 6 6 50 - - 7 - F 2,8x0,.8mm  A3/BI5 Salvis
12 55 10 22 22 4 10 14 M3 A3/BI Zanussi



Electrodes

22

key for electrodes at pages 22-23:

type A (heads)
L2
¥ Ll
Il v
B i ; i | _ |
Al A2 A3 AS A6 A7 A8 AD
type B (body)
B 4 N =
BLI DI BLI . . D1 |
DI, BL A f_A [} A ' P
T S Ll BLI DI 4
BL2 = DI gy MU BLI
BL2 \ ‘X
D2 -3 RL2 :
BL3 J .ﬂ._x b BI.2 L j; BL2
BL D29 ‘
BL3 BL3 M B2
; iy e BL3 . v
B8 A 819 Bl ER B13
Q)
c2
L = length BL = bodylength D = diameter
tam ordor o, dimoneions {mm) Fonection thruad cable loogth (mm) stitatla for types dkoy)
L 2 L3 L4 LI BL2 Bt V| D2
1 100712 5 5 - - 33 1 23 6 - [ 2.8x0.8mm M12x1 - Angelo Po A2/B7
2 100724 - - - - 13 28 8 8 - [ 2,8x0,8mm MI10x075 - Juno / Zanussi A10/B8
3 1007441 8 - - - - - - - - M4 PGY - MKN Al/-
4 100705 15 20 - - 18 17 10 7 - o 4mm MlixI - CB A3/B8
v 100721 15 - - - 9 25 11 6 - [ 2,8x0,8mm MI10x0.75 - - Al/B8
S
100815 12 - - - 18 17 9 g/ - M4 MilixI - Modular Al/B8
6 100743 21 - - - 18 8 19 6 - ¥ 2.8x0,8mm 1/8* - Junger Al/B7
7 100819 14 - - - 17 9 18 6 - [ 2,8x0.8mm M8x0.75 1000 Star 10 Al/B7
8 100874 - - - - - - - - - F 6.3x0,8mm M 10x075 - Palux -/-
9 102892 22 - - - 25 19 - 6 - 2,8x0,8mm 1/8* - Honeywell A 1/B9

www.electrolux.mk



Electrodes

“ L ! |
| ‘ \ : | -~ - g

\ 3 | ) "
i P! < a ‘ \
1 ¥ / 5 ¥ 4£/ 5; 6/ 7$ 8,’ 9‘/' 10} 11

Row  ordor po. dimansigas- {om) connostivn () cable length, {mm) auitable for types (lay)
Ll L2 L3 14 BLI Bl2 BL3 ] 0
1 102161 1.5 - - - 22 4 13 5 8 F2.38x08 870 Bertos A1B10
2 100826 2,5 - - - 20 4 13 5 8 F2.38x08 730 MBM Al/Bi0
3 100808 2 - - - 16 4 13 5 8 F238x0.8 570 Modular A1/BIO
) 100753 1 - - = 15 2 22 6 10 F28x08 600 Emmepi Al/BI0
100754 4.5 - - - 14 2 22 6 10 F2,:8x08 750 Emmepi Al/Bl10
5 100167 - - - - 14 2 13 6 85 F2.8x08 700 Berlos/FABA A10/B10
6 100738 - - - - 14 2 15 6 10 024 750 Tecnoinox/Zanussi At0/BI0
7 102375 - - - - 14 2 11 6 10 F 2.8x0,8 900 INDESit Al0/BI0
102329 23 - - - 20 23 - 6 10 F 2,8x0.8 700 Lotus Al/BlI
: 102328 17 - - - 20 23 - 6 10 F2.8x0.8 1380 Lotus At/BHI
100821 - - - - 25 8 3 5 7 F28x08 400 Star 10 A10/B12
10 102312 - - - - 17 S 20 6 8 F2.8x08 900 TECNOEKA A10/BI
100733 - - - - 28 3 23 7 85 o024 600 Bertos/GIGA/Silko A10/BI
100746 - - - - 28 3 23 7 85 024 950 Silko A10/BI
W 100747 - - - - 28 3 23 7 85 024 1350 Silko A10/BI
100732 - - - - 28 3 23 7 85 o024 1750 Silko A10/Bl

\7“\ FALY \

X 3 « B 8 ﬁﬁ
1> 2}/ 4 ¥ 5 69 i 10\

fm onder . diowmmions. (o} conmaction wablo lengld {om) stilable for 1ypes fhey)
L 2 L3 L4 Bl BL2 ik o 02
1 102316 5 - - - 30 24 - 7 - F 6.3x0.8mm 800 Inoxtrend A1/BI3/C] i
2 100727 14 22 31 - 30 24 - 7 - - 1400 Tornati Forni A5/BI3/Cl
3 101862 13 60 - - 30 30 - 7 - F 2.8x0.8mm 600 Star 10 A3/B13/CI
4102323 101 - a 5 21 21 - 9,5 - M4 - Bertos/Emmepi A1/B13/C2
5 102324 30 16 30 - 2] 21 - 05! - M4 - Mareno A6/B13/C2
102360 24 32 - - 33 25 - 9.5 - 0 6mm - Zanussi Al/BI3/C2
6 102361 20 20 - - 30 28 - 9,5 - 0 6mm - Zanussi AV/B13/C2
102175 31 30 - - 30 28 - 9.5 - 0 4mm - Zanussi Al/B13/C2
7 102169 45 30 17 18 30 28 - 9.5 - o 6mm - Zanussi A9/BI13/C2
8 102359 60 12 “ - 33 25 - 9.5 - 0 4mm % Zanussi A2/B13/C2
9 102342 48 13 15 - 24 35 . 9.5 - o4mm - FOINOX A6/BI3/C2
10 100739 24 ll 27 61 24 33 - 9.5 - s 4mm - Zanussi A8/BI13/C2

www.electrolux.mk
23



key for electrodes at pages 24-25;

type A (heads)

<o

Al Al A5 e Al Al2 Al3 Ald
type B13 (body) type C (flanges)

Dl - Bl

BI3
2|

= length BL = bodylength D = diameter
L ]
(
p ‘ \ e T\\\
1

/
N ‘3 % % T, S |

X 2 % 4

fem  ordef no, Umaneioas (w), aonmackion {ivm) cablo (ongth {mm) sukablo for s (oY)
U L2 18 4 By B2 ] o b2
101795 12 27 - = 17 17 - 6.5 & [ 4.8x0.8 960 TECNOEKA A3/B13/CI
; 101794 9 16 - - 17 17 - 6.5 = I 2,8x0,8 960 TECNOLEKA A3/B13/CI
2 100726 13 1 - - 23 20 - 7 - [ 2,8x0,8 1420 TORNATI/Forni A3/B13/CI
102808 17 13 - - 21 33 - 7 - 06 - MBM A3/B13/CI
102809 30 38 - - 21 32 - 7 - 04 - MBM A3/BI3/Ci
102807 48 43 - - 21 ol = 7/ - 04 - MBM A3/B13/Cl
3102335 13 30 - - 2 30 i 7 o - 1100 Baron/Olis A3/B13/Cl
102810 25 12 - - 24 29 - 7 = 06 5 MBM A3/B13/CI
100734 40 12 - - 24 29 - 7 - 06 - MBM A3/Bi3/Cl
100735 52 36 - - 24 29 - 7 - 04 - MBM A3/B13/Cl
100711 50 - - - 25 29 - 7 - F 2.8x0.8 - - A1/B13/CIl
q 100818 18 - - - 12 41 - 7 - [ 2,8x0.8 - BertossMBM Al1/B13/CI
102315 5 - - - 30 23 - 7 [ 2,8x0,8 - Inoxtrend A1/B13/Ci
102911 31 - - - 20 13 - 7 - F 2.8x0.8 - Landmann Al/BI13/CIl
5 101789 10 50 - - 2i 25 - 7 - o4 - Ambach A3/B13/CI
6 101788 12 38 8 - 21 25 - 7 - 06 - Ambach A9/B13/CI
7 102165 42 36 12 - 21 25 - 7 & 06 - Ambach AS/BI3/CI
8 102167 38 58 38 14 21 25 - 7 - 06 - Ambach A12/BI3/CI
9 101790 34 60 9 - 21 25 - 7 - 06 - Ambach A9/BI3/CI
10 102168 37 55 38 38 21 25 - 7 - o4 - Ambach A13/BI13/CI
11102166 85 40 - - 21 25 - 7 = nd - Ammbach Al1/B13/CI

www.electrolux.mk
24



| B\ s B -!‘"1
6“/ 7% 9% s 1w

llem ordar w0, diimentions (rom) confeition eablo fongth (mm) siitable for sypes fhoy)
Ll 4 L3 L4 BLI B2 8L3 U] (4
101791 35 62 - - 21 29 - 7 - v 4mm - Ambach A3/BI13/CI
100761 15 17 a . 21 28 - 7 - odmm : Gico A3/BI3/C
' oteo 26 17 ; s Y 2 7 - odmm . Gico A3/BI3/CI
100796 46 17 . A 21 28 > 7 - odmm P Gico A3/BI3/C
2 100750 28 18 23 14 21 28 5 7 - od4mm . OEM A12/B13/Cl
30102345 50 : : : 30 18 - 95 - F48x08mm 500 Zanussi AVBI3IC2
4 102344 35 35 - 3 " 58 - 95 - F48x08mm 850 Zanussi A3/BI3/C2
5102349 38 10 ; 2 23 18 - 95 - F48x08wn 700 Zanussi A3/B13/C4
6 100780 95 18 : 5 19 19 - 95 - F48x08mm 1300 Cuppone A11/BI3/C4
7 102351 20 35 26 - 45 48 - 95 - obmm : Zanussi AS/BI3/C4
8 100759 54 - : 5 B8 k' o 5 95 odam = Fagor AI/BI3/C2
9 101782 12 18 - - 13 17 - 7 - M4 - Kiippersbusch A3/B13/CI
102326 | = J s K M = 58 - 48x08mm - Lotus AVBI3/CS
T EEE R . , . 21 15 ; 8 - 48x08mm - Lotus Al/BI3/C6

it 8 9 10
Mo o e, dimsnsint ) canmation, () wblo gl (o) saable for typan hsg)
Ll 12 18 L4 Bul BLZ 8L3 s )] 02
[~ el 3. & & a8 B & B @ - F63x08 3 Kiippersbusch A I/BI3/C8
3 p2 N 3 12 = It 2% . 3 " - o6 ’ Lainox Al/BI3/CI0
102365 - - y -~ W A > : - 06 > Lainox AU/BI3/CIO
 omes - - - - 17 2w - & . 06 o  lainox Al/BI3/CI0
"4 o862 M 21 18 - i 35 s ; § i wof ; Lainox A1/BI3/CI0
5 102882 - - - 5 - M ks - : 0 y Rational AI/B13/CY
§ LT = TH - . & B - . ; - F48x08 ‘ Rational Al/BI3/-
7102356 44 - 5 o M ® = W I & = 870 Moretti Forni AL/-/C]
8 102354 51 - 2 s 25w & BRI3 & - F48x08 570 Moretti Forni All--
9 102355 19 10 37 - 17 17 140 60 7 8 F63x08 1650 Moretti Forni AL/BI3/C)
10 102357 19 10 37 15 17 17 140 60 7 8 F4.8x08 1650 Moretti Forni AUBI3/CI

www.electrolux.mk 25



Electrodes

26

key for electrodes at page 26:

type A (heads) % 13 . 12
12
le 12 >|_4
L

lT:t Ll

i _y -

A i i
Al A3 Ab A4

type B (body)

g 3

Dl BLI
B2

¥

B13

type C (flanges)

¢l

L=length  BL=bodylength D = diameter

~\

2 e

w7 12

item @dor 0. dimonsions (mim) ontetion wls lemgth (im) sattable for typet lhay)
u 12 18 14 8l BL2 Bi3 0 02
1 102834 18 25 12 - 20 19 - 9.5 - M4 - MKN A6/B13/C4
2102325 30 18 6 - 21 21 - 9.5 - M4 - Mareno Al4/B13/C4
3 100769 56 12 10 - 19 19 - 9.5 - F 2.8x0.8mm 800 Cuppone A14/BI13/C4
4 102322 100 - - - 21 21 - 9.5 - M4 - Bertos/Emmepi Al/B13/C4
5 102352 35 - - - 30 18 - 9.5 - F2.8x0.8mm 600 Zanussi Al/B13/C4
6 102362 21 - - - 33 26 - 9.5 - o 6mm - Zanussi Al/B13/C4
7 102268 24 10 - - 70 25 - 9.5 - ebmm - MKN A3/B13/C4
. 102883 28 - - - 80 14 - 93 - F4.8x0.8mm 600 Rational Al/BI13/C4
102884 27 - - - 130 24 - 9.5 - F 2.8x0.8mm 600 Rational A1/B13/C4
4 102350 33 11 - - 20 15 - 9.5 - F6.3x0.8/28x0.8mm 450 Zanussi A2/BI13/C 1)
102348 33 11 - - 20 15 - 93 - F6,3x0.8/2.8x0,8mm 650 Zanussi A2/BI13/CII
10 101783 26 - - - 30 30 - 9.5 - F 2.8x0.8mm - Kiippersbusch Al/B13/C8
1101861 12 60 - - 28 30 - 7 - F6.3x0,8/28x0.8mm 600 Star 10 A2/B13/-
12100742 10 70 - - 16 25 - 7 - F6.3x0,8/2,8x0.8mm 1550 Juno A2/BI13/-
13 10288I 4 12 - - 66 - - 24x6 - wo4mm - Rational A2/-/-

www.electrolux.mk



IC igniters/ignition push buttons

piezoelectric igniters ignition push buttons/ignition switches

\ \
ftam  rdee ve. body sctiilion o moontiog (ma) cannetfon {mm) iom  ondur no. dasaription o moaptieg mnt anneclon (mm)
I 100003 metal pushing 18 F 2.8x0.8 1 100010 1CO 10 F 6.3x0,8
2 100002  metal rotary 18 F 2,8x0,8 2 100038 1CO 11 F 6.3x0.8
3 100009 plastic pushing 18 024 3 101029 I NO 16 F 6,3x0.8
4 100004  plastic pushing 18 024 4 345038 2NO 23 I 6,3x0,8
5 100005  plastic pushing 22 024 5 345039  protective cover for switch

D o N BT Y

&' o
3 4 N 5 N Mow  ondec oo, descripion @ noanting (in) comsttion (om)
1 301076 2NO 30x22 [ 6,3x0.8
s onder no. bady ackintion o mounting (mm) comection (i) - - — - - —

—_— . 2 345189 2NO 30x22 [ 6,3x0.8

1 100013  plastic pushing 22 024
= 3 301021 2NO 30x22 [ 6,3x0.8

2 100012 plastic pushing 18 024
— P 4 100160 | NO 28x28 [ 6,3x0.8

3 101339  cover for piezoelectric igniter =
5 301014 I NO 30x 11 [ 6.3x0,8
4 100007  metal 2-hole - F 6,3x0,8

6 101038 INO - [ 2,8x0.8

w

5 100011 metal 3-hole - F 6,3x0,8

% "
1 2 3 4 5 @ % %

jtem ondat no. body acliation o mointing (mm) conmetion (mm) calle () : %’
1 100008 plastic  pushing 22 020 - :j\ %& %'&

2 100039 plastic  pushing 22 F6,3x08 - ' A&:&
3 00Ul plasic  pusheig 22 F6h08 - 1 2 3
4 105209 plastic  pushing 22 [ 6,3x0.8 200 B A
2 TS \gekfhe el MR 1 101033 ignition switch 2-fold for gastaps Sabaf
2 101039 ignition switch 4-fold for gastaps Sabaf
3 101035 ignition switch 6-fold for gas taps Sabaf
>
Y
3V 4 5
am ondae oo body setiation moniting ctndsction \inor) table ()
{imensisas {ma)
1 101136  plastic  pushing  27x36 [ 6,3x0.8 -
2 100001 plastic  pushing  27x36 [ 6,3x0,8 -
3 101358 plastic  pushing o 18 024 - ton e w. Juwrition » Waanting comastion
4 100006 plastic pushing o 18 024 200 i
% T00Il gt ey 3 024 i 1 301195 ignition switch 22 FF 6,3x0.8mm/F 2,8x0,8mm
2 101036 battery holder 22 F 6,3x0,8mm/F 2,8x0.8mm
3 102909  battery holder 19 F 2.8x0.8mm

www.electrolux.mk
27



28

Ignition‘units/fignition'cables

ignition units

fem  ondar ma, outuls sapply o npunking Gonnoctions. (m) Iype
(mm}
Inpit oyt
| 101012 2 230 VAC 56 F28x0,8 F2,.8x08 ZIG2
2 100023 4 230 VAC 98 [ 6,3x0,8 F2.8x0.8 ZAG4

3 101024 6

230 VAC

98 F6.3x0,8 [2.8x0,8 ZAG6

2
it ordor 1o, aotgas wpgly o mounting (mw! coanections )}
it oatpal
- 101002 2 230 VAC 73 F 6,3x0,8 F 2,8x0,8
I 101009 2 1,5 VDC 73 [ 6.3x0.8 F 2.8x0,8
5 102388 4 230 VAC 100 F 6,3x0.8 F 2,8x0.8
101031 4 1L,5VvDC 100 F 6,3x0,8 [ 2,8x0,8
102389 6 230 VAC 122 [ 6,3x0,8 I 2,8x0.8
: 101032 6 1,5VDC 122 [ 6,3x0,8 F 2,8x0,8

ignition cables

2
itm ordor e aalpuls spply 1 Moantixg. () oonnestions. (mm)
inpat wtp
1 101016 2 230 VAC 42 [F6.3x0.8 [ 2,8x0,8
2101004 6 230VAC 88 F63%0.8 [ 2,8%0,8
101008 8 230 VAC 103 F 6.3x0.8  F2.8x0.8
102908 8 1,5 VDC 103 F 6,3x0.8 [ 2,8x0,8

fbam ocder an. aatpits supply & oouolg (om) ‘comnections
nput natput
1 101017 2 230 VAC 60 cable o 4mm
2 10l006 6 230 VAC - I 6,3x0.8 F 2,8x0.8

d |
1 |1
ik
2 )
| |
3 o
ltom  orlar o oy {m nomial moze colour Booer  malaril
saotion (o) (mm)
i 100027 5 0,34 white 3 braided glass fibre
102627 100 0,34 white 3 braided glass fibre
. 100120 5 1 white 3.9 silicone
T 570630 100 1 white 39  silicone
. 100028 5 1 red 6.2 silicone
102628 100 | red 6.2 silicone
1 2 5 6 T
lem  ordor . Qy o) 8 5% (o) ominal cros saction (o}
| 100112 20 02,0 0.25-1,0
2 100023 20 024 0.5-1.5
3 100024 20 04,0 0,25-1,5
4 550923 20 06,0 0,5-1.5
S 100021 20 F 2.8x0,8 0.5-1,0
6 100022 20 F 6.3x0,8 1,0-2,5
7 550945 20 04,0 0.25-1,5
4
—_— 1 [ -
pos. oRder 0. @y im) doseription a o (om)
100030 10
} ——F————+Rliconé 3x0,63
570030 100
100031 10
3 ——gilicone 5x0,9
570031 100
100032 10
3 ——— silicone 6x0.9
570032 100
100033 10
Je——————=45ilicone 8x1.0
570033 100
100034 10
5 ———  silicone 10x1.0
570034 50
o5 order o, Qy (m  description dametor {wm)
urdinary shranlan
1 100029 5 contracting tube 4.8 24
2 100035 5 contracting tube 6.4 3.2

www.electrolux.mk




Ignition cables

manufactured ignition cables

A B

F 2.8mm F 2,8 mm

3 0 2,4mm )
%\ I 6,3mm

&/ | | = ;
i
o 4mm o 2.4mm \}
h

b

F 6,3mm o4mm

lug M4 q

ms o length () connections s ondor m; lovgth (im) connactions
mee A (om wm B (m} ago A (mm) mgo & fime}
I 102191 300 F28 F2.8 33102301 2000 F28 lug M4
2 100036 500 F 28 F2.38 34 100014 300 024 024
3 102159 600 F2.8 F2.38 35 100015 600 024 2.4
4 100037 900 F 28 F2.8 36 100016 900 024 02,4
5100190 1200 F2,8 F2.8 37 102180 1200 024 024
6 100174 1500 F 28 F28 3R 102181 1500 024 024
7102192 1750 F 28 F 2.8 39 102182 1750 024 024
& 102193 2000 F2g F28 40 102160 2000 024 024
9 102162 400 F28 F6.3 41 100017 300 024 04
10 102178 900 F2.8 F6.3 42100140 400 024 04
102179 1200 F 2.8 F 6.3 43100018 600 024 04
12 102188 300 F238 024 44 100019 900 024 04
13100197 600 F2.8 02.4 45 100176 1000 02.4 04
14 100178 900 F 28 02,4 46 100193 1200 024 04
15 100179 1200 F2.8 024 47 102150 1500 024 04
16 102163 1500 F 28 024 48 100175 1750 024 04
17 102183 1750 F2.8 02.4 49 100194 1900 024 04
18 100191 2000 F2.8 024 50 100137 2000 02,4 04
19 102187 300 F28 0d 51 102189 300 024 lug M4
20 100199 600 K28 04 52100166 500 024 lugM4
21 102155 900 F 28 04 53 100186 600 024 lug M4
22 100164 1200 F 28 04 54 100146 900 024 lug M4
23 102190 1500 F 2.8 04 55 100195 1200 024 lug M4
24102158 1750 F2.8 0d 56 102184 1500 024 lug M4
25 102174 2000 F 28 04 57 102185 1750 024 lug M4
26 100189 150 F2.8 lug M4 58 102186 2000 024 lug M4
27 102194 300 F 28 lug M4 59 102172 300 0d F 6.3
28 102156 600 F2.8 lugM4 60 100025 600 04 6,3
29 102195 900 F a8 lug M4 61 100026 1000 04 F 6.3
30 102157 1200 F 2.8 lug M4 62 102270 1500 04 F 6.3
31 102196 1500 F2.8 lug M+ 63 102177 600 F63 lug M4
32 102310 1750 F28  lugM4 T 64 102164 1000  F63  lugMd

www.electrolux.mk

29



Thermocouples

universal thermocouples

—a L nut M6x0.75. conical
m locking screw M10x1

union scresw
M1Oxt/M3Bx|

unjon screw MYx!

T T R

' s
M6xl 11/32
psofer oo doseription 1 gtk ()
| 102005  thermocouple set 6-piece 600
2 102000 thermocouple set 6-piece 900
3 102006 thermocouple set 6-piece 1200

@ adupter HONEYWELL/ ROBERTSHAW  adapter CONTIGER/ TEDDINGT@N .

m lockiny screw M10x1
-

e
wl union screw 7/16

5 adupter HONEYWLLL/ WHITE RODGERS

adupter ROBERTSHAW

union screw M10x|

union screw M9x1

54

=2
=

unian serew M8x|

A A A
Meéxl| 6,5mm 11/32
pos. ordor o duseripiion negth ()
1 102129  thermocouple set 10-piece 600
2 102130  thermocouple set 10-piece 900

m locking screw M10x1

union screw MIOxI/ 11732

i

union serew M8x)

S ——
adapter 6/6.3
l@ ‘sl !i " nut MBx 1

“ﬂ adapter HONEY WELL/ ROBER TSHAW
"-tua locking screw M{0s1 ) circlip
hq adapter ROBERTSHAW ) circlip

union screw 11/32

union screw M 10x |

union serew M9x|

| ==
univn screw M9xl

O stopring
’ stop ring

L — =i 4
W& ordar no. dascription langth {mm)
| 102001 thermocouple set | 7-piece 900
2 102004  thermocouple set 1 7-piece 1200

m adapier ROBERTSHAW

2

spring

vnion screw 7/16

ws  order oo toseription length (nm)
F‘T" adapter BONEY WELL? ROBERTSHAW  union serew M9x1/ M8xl m 1 102280  thermocouple set 5-piece 450
- : _ 2 102281  thermocouple set 5-piece 600
!-,. adupter ROBERTSIIAW O internaediate ring = g
- 3 102282  thermocouple set 5-piece 900
b union serew 7/16 C D stop ring 4 102283  thermocouple set 5-piece 1800

universal flexible thermocouples

Py
4

|} — R
T~

union screw M8x 1

L s Wpfm 5 el ——a— adapter 6/6.5 union screw M9xt il
1 102003 thermocouple set 10-piece 900
2102002  thermocouple set [0-piece 1200 Bl adurter VAILLANT wain s B "

i)

union screw [1/32

Lk

ll

adupter HONEYWELL/ ROBERTSHAW union screw MYx!

union screw 7/16 univa serew M8x |

Il

BUTH

M odor lungth {mm)
fp spriog untonscre w38 1 102285  thermocouple set 8-picce 600
2 22 et 8-piec
w e TR 2 102286  thermocouple set 8-piece 900
3 102287  thermocouple set 8-piece 1200
g ke o dostrplan leglh ()
I 102284  thermocouple set 8-piece 901

www.electrolux.mk
30



bare thermocouples

bare thermocouples type GF (flexible)

(must have fittings to operate)

bare thermocouples type SEF (flexible)

ftom  jorder o, loagth | ) 1ype
102023 600 SEFI |
| 102024 900  SEFI
102025 1200 SEFI

— W
1 ——— 0dspter MEx |

3 e :apcr HONLEY WELLY
— ROBERTSUAW

4 - adapter VAILLANI

5 — 4o plcr JUNKLRS

6 = adapter (1T

7 = adapter [TT

8 = union serew 7/16

9 o ol M8x |

10 @ nut M6x0.75

1 1 0 nut M6x0.75 conical

12 m locking svrew M10x1/6.5mm

Me6x0,5
. e ven e o Cm eww el
b | 102248 400 3 102098 900
2 102097 600 4 102099 1200

M6x0.5
v

! tom ordor 0. longts (me) type
' 102435 600 SEF2 1 MR copve e
2102436 900 SEF2
102437 1200 SEF2

2 S — =
s 0dapier 6/6.31mn

adn, Mix 1
4 mm prer Mix

accessories for bare thermocouples type GF

5 m adapler M1 OxI
Wbl
Iouking serew ]
13 a M1 0x /6mm 3 L udapler M8x| il adapier |1/32
I
locking screw
14 = M10x1/6.5mm
RUCKELSHALSEN) o olro @y ik ok Qy (G o otkew Q)
15 0 sculloped washer I 100935 | 3 100930 1 _ 100932 1
J
102735 5 102730 5 102732 5
16— e rd , 100934 | 102931 1 o 100933 1
intermediate ring SIT/TARGLT K 102734 5 102731 5 102733 5

17
18 # adupter VAILLANT
19 o cluct

20 g adapler M8x}

21 # adupter M9 |

22 g adapter M10Ox1

23 g adapter 11/32

i o o Qy {pma) typ b olar Qty (pocs) (13
100914 1 13102677 1 SEF2
I &==————"—"SEF|
102714 5 14 102678 1 SEF2
100915 1 15 102666 1 SEF!
2 SEFI
102715 5 16 102668 1 SEFI
3 102673 1 SEFI 17 102669 1 SEF!
el 102670 1 SEFI 18 102671 1 SEF!
5 102667 1 SEFI 19 102672 1 SEF!
6 102675 1 SEFI 100910 1
20 SEF1/2
7 102679 1 SEF2 102710 5
8 102674 1 SEFI 100911 1
21 SEFI1/2
9 102067 | SEFI 102711 5
10 102680 1 SEF1/2 100912 1
22 SEFI1/2
1 101297 1 SEF2 102712 5
100907 1 100913 1
2 —————— =SBk 23 ———————SEEI}2
102507 5 102713 5

www.electrolux.mk

31



Thermocouples

standard thermocouples

32

thermocouples 5mm

thermocouples 6mm flexible

Made In )
Germany
06 965
v \ v
G A
|

[
— , We . g
34
16,5 tT 43
34 G -
W cdor o losgth (i} T pos onder s longth () T
T T T T TR T o 1102396 600 M8xI 4 102399 600  MIOxI
] 102201 220 M8xl 10 102251 750 MOx! ) 102397 900 M8xI S 102400 900 MI10xI
2 102202 320 M8xl 11102210 220 MI10x1 3 102398 1200 M8xI 6 102401 1200 MI10xlI
3102203 450 M8xl 12102211 320 M10x]
4 102204 600  M8xl 13 102212 450  MIOx]
5102205 750 M8l 14 102213 600  MIOxI thermocouples 6/6,5mm
6 102206 850 M8xl 15 102214 750 M10x] e i
7102207 1000 M8xl 16 102132 1000 MI0xI \j \ 3
8 102208 1200 MBxl 17102215 1200 M10xI m : mﬁ
9 102209 1500 M8xl 18 102216 1500 M10x] #..J ‘LT
= 33.5
thermocouples Smm flexible L, 44 4
Made in | 52.5
4 Posorder no, longth mn) I P& ordor woy longth {mm) Ly
===i_ H 1102033 320 M8xl 14 102007 320 MI0x]
16 J tT 2102034 600 VEN 15 102071 400 M10xI
35 3102035 850 M8x | 16 102075 600 M10xI
= 4 102036 1000 M8xl 17 102076 850 M10xI
M,k logh (am) T Mo ordar e lglh (wm) T 5102037 1200 M8xl 18 102072 1000 M10xI
1102390 600  M8&xI 4 102393 600  MIOxI 6 102038 1500  M8xl 19 102077 1500  MIOx]
210239 900 M8xI 5102394 900 M10xI 7102039 320 MOxI 20 102046 400 11/32
3102392 1200 M8xl 6 102395 1200 MI0xI 8 102040 500 MOxl 21 102047 600 1/32
9 102041 600 MOxI 22 102048 850 11/32
10 102042 850 MOxl 23 102049 1000 11/32
11102043 1000 MOxI 24 102051 1500 11/32
thermocouples 6mm 12102044 1200 MOxI
13102045 1500 MOxl
06 06.5
v "
S S—— A m thermocouples 6/6,5mm flexible ,
- t WY
pt——n 06 063
33 v Y \
39.5 =l @ . /ﬁp
18 J : t T
we ul logth (om) T o oler oo, fongth (om) T » b | !
I 10217 220 M8xl 9 102226 450 MI0xI E . 3|
2102218 320 M8xl 10 102227 600 M 10x] - 44“4-—
30102219 450 M8xl 11102228 750 M 10xI
4 102220 600 M8xl 12102229 1000 MI0x] R, i % i R
5 102221 750 M&xlI 13102230 1200 M10x1] 1 102402 600 M8xl 4 102407 1200 MO9x |
6 102223 1200 M8xl 14102231 1500 M10xI 2 102403 900 M8x] 5102408 600 MI0s!
7102224 1500 M8xl I5 102256 1000 11/32 3 102404 1200 M8x | 6 102409 900 M10xI
8 1022235 320 MI0xI 4 102405 600 MO9xI 7102410 1200 M10xI
5 102406 900 MOxi

www.electrolux.mk



Thermocoupl :ﬂ

threaded thermocouples M8x1

M8xi

: ¥
e RS =

e B ]
. 53
§08. ander 0. longth {om) T ol dndur no. Jangth (ow) N
1 102232 220 M8xI 12102063 850 MO9x]
D 102054 320 M8xI 13102064 1000 MOxI
3 102055 450 M8xI 14 102065 1200 MO9xI]
4 102056 600 M8xI 15 102066 1500 MO9x]
5 102233 750 M8xI 16 102073 400 MI10x1
6 102057 850 M8xI 17 102235 450 MI10xI1
7 102058 1000 M8xI 18 102078 600 MI0x1
8 102059 1200 M8xl] 19 102079 750 MI10x]
9 102060 1500 M38xI] 20 102074 1000 MI10x1
10 102061 320 M9x] 21 102080 1500 MI10x1{

11 102062 600 MOx]

threaded thermocouples M8x1 flexible
M?Edewany b
= /ésa:." e,

be

- 51

poie arder no. longth (mmol T pus. onder 1o, Longth {rom) T

1 102136 220 M8xI 7 102415 900 MOIx]
3 102128 320 M8xl 8 102416 1200 MO9x!
3 102411 600 M8xI 9 102417 600 MI10x]
4 102412 900 M8xI 10 102418 900 MI10x 1
5 102413 1200 MB8xI 17102419 1200 M10x1
6 102414 600 M9x]

thermocouples ROBERTSHAW

0935 0895 716

] v o;.:v v -

- -
42
54
- e
61.5

ot ander o ongtl tmn) T s, ardse 00, toogth (onm} L ]

| 102122 450 11/32 4 102277 900 11/32

2 102276 600 11/32 5 102278 1200 11/32

3 102123 750 11/32 6 102279 1800 11/32

thermocouples ROBERTSHAW, flexible

Madein \)
Germany
94 T —

079 09

1

M
i g )

679 094 09 716 e

2

fow  order no. length {mn) T hem  andar nov longlh (mm). T

102429 600 11/32 102432 600 11/32
| 102430 900 11/32 2 102433 900 11/32
102431 1200 11/32 102434 1200 11/32

thermocouples HONEYWELL

29,5
65 Bgl Ml‘lxl
(R | v
rd [}
18 I T
32
- -
38
- -
55
o, o . loegth (rh T
1 102893 1000 11/32

thermocouples with nickeled cables

ad

! /
= 7' A =)o

1 $
17 -T
i
41
MRx1
Y

=T % =
21? / 5:?

Tonglr {mm) T Fem onder oo
| 102112 450 M8x1 2

fom ol 0o, fugtn tom) i

102113 450 M8xI]

www.electrolux.mk

33



various thermocouples

062 548
v ]

0829 10
ab p *

\j

ftam  ordor o, loagth frmm) T
1 102261 600 M8xI
o -;.7

40
- —_—
46.5
-
s ondur no. lungth (inm) i pos. ocder o, longth (i) T
1 102262 1200 M8xt 2 102263 1400 M8xl

various thermocouples flexible

Made in
Germany

06
v "
Tom  urdor m, langth (m) T
2 102258 600 M38x1 1
18 tT
i
L
- -

Made in
_ Germany

8 -;,9 0'6 — " _
. =

29 . 53 i
p—————————}
i 445 | = &l =
068 o ade egth T e o
) 5 { 5 . langth L T
\ (oml () ) )
‘-ﬂ . mi [ J0d2 60 60 MIE 1 102424 650 115 MIOx
z 16 | tT 102423 650 95  MIOx! 2102119 320 - M8x!
20
24
e o Made in
31 7 ~ Germany
[ A 048  © i )
‘ v I-' /
itom  ordor no, longth (iom) T tem  order no. Hunegth () ¥ e /- *
1102125 420 M8x| 2102266 220 M8X| 3k o
-
33
i = £ e |
26 065
v ' . onder g langth () T
M / %;‘ 1102428 450 VEN]
e 16 _J I t‘r
18,5
o~
278
-
35
= -
38
-
P order o longth (mm) T ms ode loagth (vm) X
I 102246 600 MO9xI 3102267 850 M8xl
2102923 750 MOx |

34

www.electrolux.mk



Thermocouples

various threaded thermocouples

M6x0.75
Y /

18.5
38.5
- e
W order oo, longth fore) T ps ondar po. ongth {mn) T
1 102138 300 MOxlI 2 102139 500 MOxI
o8
M6x0,5
-c:hi. gya—"
1 i ,
15 Ly
- -
o
I
35
-

23
37 o

e ordr 0w, longth lorw) ¥ ilam  order mo. oagth (e} T

1 102245 500 M8x1 2 102121 600 M8xI

ngl
M /
A 4 2
= 79.5 o

s ander nov lowgtb (! l _ o

1 102249 250 M8xl

M8x1

o b

26
Méx]
--'*
2 &
16
18,5 =
31
37
ligs 2
53,5
ftam order no. length () % ftom  ondar mo, longth (mm} T
1 102257 600 M8x1 2 102008 1000 MO9x1

a9
M6x0,5 ]

e <
1

itam  oodar o longth trew ) T itam onar no. longth mm) Tt
1 102153 600 M8xI L 102944 1500 MoIxl
Made in
M&xl @

hf
1 — . adblii
] b
45
75 -

- Made in
Germany

/M'ﬁl{ ;

M8x1
45 06
@ * *

tm oner m, loggtt (pom) 2 ftom  ode e loagth () N
102420 750 M8x1 2 102114 900 M8xl
102421 750 MI0xI

Made in
MI0x] @

6,5

I8 J
-
19
S T
48

I

M6x03 "vg

o ondar mo. oogth (o) T fam ordor g0, longth (o) T
102425 600 11/32 1 102427 1200 11/32
102426 900 11/32 2 102244 500 Mgx1

www.electrolux.mk

35



Thermocouples

thermocouples with one conductor threaded thermocouples
with two conductors

M6x0,75

: a@-—w ‘ 7/ /A_@ o I o ﬂ+ .

‘

29 |
— e .
D 29
—
M6x0.75
] pese order lapgh. (mm) connecliont
g plrso oonduotar (L} gnind cabla (2} A 1§
2 | 1 102271 600 600 F 7.7mm lug M4
13 | 2 102148 600 100 F7.7mm  F 2.8x08mm
~
34

ilem ordor m. loagth (som) connaction itam order mo, longth (mm) conection \ -
1 102145 600 F 7.7mm 2 102242 750 F7,7mm =ik

thermocouples with two 2 ’
conductors - -

1es. order n0i Jongtit (mm) conngctions
plge. candeovor (LI groud cable (L2} ) ]

[IS)

5 S
o{ g | 102147 750 100 F7.7mm  F2.8x08mm
—— - = - @m‘ 102924 750 750 F7,7mm  lug M4

F
35 M6x0,75
_ ¥
A
-
ps oM e, logth o} T 1 S I
1 102089 600 MB8xI 12
2 102131 1000 M8xl 29
== WL

item  ordor no, lowgth (mm} conndetion e ondor o o @ik (o} canniction
ph e tength (ma) sonnactions 102127 600 02mm 2102152 750 o 2mm
phto  conducter 1L() fround aable (12 i ! o D TRt o N = = ey e =
1102255 600 600 lugM5  F6.3mm ve Ml
2102814 1000 1100 lug M5 F 6.3mm Y Y -
ey /%WD
& | t
-39 5 T

{ ol

1 { 34

: Y ) c o -

um-r—:/ ., W
\ w5 ordse m. loaglh (mm) 1
1 I - I 102088 1500 Mi0x|
30
M6x0,75 9
, Y
pote order: v, {ungth {mum) T \ - A
I 102260 600 Mgl — -
o | 0
-
38
g =
os order fie. leagth (orm) conneetians
phese condvolor (LY grouad ks (12) i ]
| 102120 750 750 F7.7mm F 6.3mm

www.electrolux.mk
36



Thermocouples

thermocouples with interruption

i
Y v

L1

fom  pedor mo. U i) L2 fom) T conection
| 102239 500 300 M8xI  with cable 250mm F 6,3mm
2 102115 500 200 MO9xI  with cable 400mm F 6,3mm

L1

A

00 063
1 v '
S S————
I8 '
34
- 43
% -
06 965
(] wder 00, . (mm) 2 ey T connettion %
- 102068 320 130  M9xI soIder connection @ |
102069 600 130  MO9xl  solder connection 183,
| 102070 1000 130 M9xl  solder connection 27'335
102247 600 130 M9xl  with cable 600mm D 7__\
102250 1000 130 MO9xl  with cable 1000mm 3
2100172 400 180  11/32  Faston 6.3mm oy "
102238 600 130  M9xl  Faston 6,3mm [ tae J
2 102252 600 130 M9xI  with cable 650mm - 5
9 102254 1000 130 MO9xI  solder connection
102259 1000 130 MO9xl  with cable 1000mm flem  order m Wi  L2im T ‘comnctian
1102925 750 200 MOxI  with cable 300mm F 6.3mm
L 2 1020‘_)4 7_30 200 M9x| with cable 300mm _F 6._3mm
e = Ttz T 3 102812 1000 150 MOxl  with cable 600mm F 6,3mm

18

-

34
L3 !

35,2 =

- T e

em  osdor oo, § Gord L2 temp T conmeetion
W& ocdor no. Wolmmt L2 me) L8 fem) T connectian

| 102269 850 180 M9xI F 6.3mm
2 102124 850 180 M8xI F 6.3mm

1 102815 1000 650 550 M8xl  F 6,3mm

www.electrolux.mk
37



K

thermoelectric generators (system mV)

1mm=//=ﬁ«

i ordor o Jungth fom) | e arder oo, Togth (men)
1 580035 820 3/8* NEF 2 102116 600
extensions for thermocouples
ey & Ve
ot ondor no. fongth (mm) i e orlar o laogtd (m} T
1 102011 400 M10xI 5 102012 1000 MI10x1
2 102013 500 MOxI 6 102852 1500 MOxlI
3102811 600 MoxI 7 102010 1500 MI10xI
4 102851 1000 MOxI

extensions for thermocouples, flexible

it nder o, Gy {ploco) deseription
1 10086I 1 screw conneclion
2 101860 | nut MI0OxI
100907 1
3 screw MI0Ox |
102507 5
101295 |
sleeve Smm
102595 10
union screw

29949

|
F
R R T
| 102241 500 MOx |

accessories for thermocouples

18 g 3% 4% 5069 _l

Wem  onler po. Ay (pisct) doseription sisble fop
| L nut M8xI
102500 10

2 100965 1 nut M8x1 MKN

3 104250 | nut M8xl Kiippersbusch
4 102143 | nut M6x0,75 MBM

5 102680 | nut M6x0,75

6 M8129L nut M6x0,75

7
item ok o Qy desariplion iem  odar Qty description
(plecal (puca)
101260 1 5 106112 1 7/16mm
I ———MB8xl
102566 {0 100920 |
6 M8xI/M9x|
101261 1 102720 5
Z ————————=N0%]
102561 10 100922 1
MI10xI, 11/32mm
101262 | 102722 5
3 e N1 (k]
102562 10
101263 1
4 11/32mm
102563 5
Y
1 2\ Q4
lom  orber o deacripion
101264  interrupter M8x1
101265  interrupter M9x1
101258  interrupter Mi0xI1
101266 interrupter 1 1/32mm
2 580046 interrupler
3 100947  display adapter M8xlI
100948  display adapter M 10x1
4 101337 display adapter M9x1
5 101414  display
6 101410 display

www.electrolux.mk



	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38



